
24. SETTLEMENT 

1.  a)  A – Central Business District 
B – Transitional zone. 
C -  Zone of industry  and working class. 

  b)  - Has full buildings/sky scrappers.       
   

- Population density very high at  low  at night. 
- Has high land value. 
- Mainly have officers and shops. 
- Is the jocal point of a town 

 
2.  a) - nucleated                     
   - dispersed/ scattered  

b)  1- Central Business District                   
  2- Industrial Zone 
  3- Low class residential zone  


